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Instructions to Candidates: 

Answers should be written either in english or in kannada. 

SECTION - A 

1. Answer any five sub-questions. Each sub-question carries 2 marks. (5x2-10) 

Mention any two objectives of financial Accounting. a 

b. Give any two merits of Accounting. 

c. What is Purchase Consideration ? C. 

d. What is Royalty ? 

What do you mean by Shortmarkings ? . 

Give the meaning of hire purchase system. 

Give any two reasons for commession of a firm into a limited company. 

PT.O. 
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SECTION - B 

Answer any three questions. Each questions carries 6 marks. (3x6=18) 

2. Explain any 6 accounting concepts. 
2. 

3. Prepare an analysis table of Royalty from the following details. 

Minimum rent Rs. 25,000 p.a 
Royalty - Rs. 2 per ton of ore raised. 

Shortworkings are recouerable during the first 3 years of the lease only. 
The output for the first 4 years are as follows: 
Ist year - 3000 tons, 2nd year - 10,000 tons, 3rd year 30,000 tons and 4th year 
35,000 tons. 

DaR naFT - do.25,000, a3 3 edon 

DOs de. 2 dos, io7,d indo aaetb sadFrieee oGgT doTaR 

1 a 3000 3ieb, 2 Jdr - 10,000 sTe), 3 dadF - 30,000 &isb, 4 -

35,000 &NeD. 
4. Calculate the cash price of an asset from the following details. 

Down payment Rs. 4,500 
Ist instalment Rs. 4,200, 2nd instalment Rs 3,900, 3rd instalment Rs. 3,600, 4rh 

instalment 3,300. 

Rate of interest 10% p.a. 

dvoris ead do de.4,500, le dox de.4,200, 2e doab do.3,900, 33* to 
do.3,600, 43e doab do.3,300. 

ad Se. 10 DaF 

5. Calculate the amount of purchase consideration from the following. 

The purchasing co has agreed to issue. 

30,000 equity shares of Rs. 10 each at a premium of 10%, 1,000, 8% preference 
shares of Rs. 100 cach at par, 1,000, 6% debentures of Rs. 100 each at a discount 
of 10% and pay cash equal to Rs. 25,000. 
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DoeDAd doadaddo de. 10 DaDzaeado 30,000 DD, drtbrva de.10 dso 

dots ead. 1000, 3. 8 0 350 s drdbritvaio ido de. 100 Go easo. 

1.000 e. 6 d do. 100 aDDDEodD mUts, niva) de. 10 d bodnooe ddo ae 

T) INad dA. 25,000. 

6. Ascertain credit purchases and credit sales from the following. 

Rs. 

Sundry debtors on 1-1-2010 

Sundry debtors on 31-12-2010 

Sundry credito on 1-1-2010 

Sundry creditor on 31-12-2010 

14,000 
10,000 
8,000 

9,500 
Cash received from debtors 6,400 
Bills receivables dishonoured 400 

Cash paid to creditors 2,000 
Discount allowed 400 

Discount received 200 

B/R received from debtors 2,500 
B/P accepted from creditors 5,800 
Bad debts 300 

odbesreb 1-1-2010 14,000 
adbesiss 31-12-2010 10,000 
oris 1-1-2010 8,000 

oris 31-12-2010 9,500 
adbeorieos wos arto 6,400 

400 

2,000 

400 

200 

2,500 

5,800 
300 

P:T.O. 
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SECTION C 

Answer any three questions. Each question carries 14 marks. (3x14-42) EBToT3 odnajootdø dhodb a,3terR evd0A. 8 1400 LOTa Co.lLtd. took a lease from a landloard for a period of 25 years from 1-1-2001 0n a royalty of Rs. 2 per ton of coal raviscd with a minimum rent of Rs. 20,000 and 

7. 

power to recoup short workings during the first three ycars of the lease. The annual output was as follows: 
Ycar Tons 
2001 5,000 
2002 8,000 
2003 10,000 
2004 15,000 
2005 20,000 
Prepare minimum Rent A/c, shat workings A/c, land lord A/c and Royalty A/c. 
.1-1-2001dodo ioeo» To.0. wotb twavodba 25 Jris oe zo dOtn. 

2001 5,000 
2002 8,000 
2003 10,000 
2004 15,000 
2005 20,000 

Mr. Ganesh purchased a car on hire purchase system. The total cash price of the car 
is Rs. 15,98,000 payable Rs. 4,00,000 down and 3 installments of Rs.6,00,000, 

5,00,000 and Rs. 2,00,000 payable at the end of first, second and third year 
respectively. Interest is charged at 5% p.a. Rate of depreciation is 25% p.a. on 
diminishing balance method. Prepare necessary accounts in the books of Mr. Ganesh. 

8. 

Rs. 
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se de.15,98,000 s övdotso nBrtie5o/Nö. do.4,00,000 da dtiodwon 

eaoas aodd doabris, do.6,00,000 toD Bo&) aodO ddrd eo3.do 

de.5,00,000 Jdrsde 8odd JdTze öadr t soo, do.2,00,000 daodie doab dbedie 

Ram and Prem are partners having prolit sharring ratio of 2:1 and their balance sheet 9. 
as on 31-3-2017 was as follows. 

Rs. Liabilities Assets Rs. 

Creditors 40,000 Cash in hand 300 

Bills payable 10,000 Bills receivable 5,000 
Ram's loan 20,000 Debtors 60,000 

30,000 Less reserve 3,000 57,000 Ram's capital 

Prem's capital 20,000 Stock 43,700 
Reserve fund 6,000 Machinery 20,000 

1,26,000 1,26,000 
They agreed to sell the business to a limited company and the company to takeover 

the assets and liabilities as follows. 
Machinery at Rs. 16,000, Stock at Rs. 35,000, Debtors at Rs. 50,700, B/R at 

Rs.5,000 and Goodwill at Rs. 6,000. 
The company agreed to takeover creditors at Rs. 38,000 and B/P at Rs. 10,000. the 
expenses of realisation amounted to Rs. 300. The firm received Rs. 40,000 of the 

purchase price in Rs. 10 fully paid equity shares and the balance in cash. Distribute 

the shares as per original capital ratio. 

Prepare necessary ledger accounts in the books of the form. 

40,000 300 

10,000 5,000 

20,000 3dbeorisb 60,000 

30,000 eToDS ta3 3,000 57,000 
20,000 43,700 
6,000 odoode eaitdeo 20,000 

1,26,000 1,26,000 

P.T.O. 
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Dode, cTöroristb de. 16,000, sdtbrisb de.35,000, adbedrisb do.s0,700, 2diTDT 

Oo3risb de.5.000 oab oDob de.6,000, tosiadbasdb Gonva 38,000 do.reR 

driabdodes tusd. dadscaod thoantso do.10,000 rtf tat) 3 de.300, 
DDOd 40.000 do.iab dosbod JO»Uda do.l0 ido) oJF KORObp 

10. Mr. Das keeps his books by single entry system. From the following data, prepare 

trading and P&L Ac for the year ending 31-3-2018 together with balance sheet as on 

that date. 

a) Cash book analysis shows the following. 
Salaries Rs.17,000, Business expenses Rs.15,600, Interest charges Rs.400, 
Drawings - Rs.4,000, Payment to creditors Rs.30,000, Cash sales Rs.30,000, 

Receipts from debtors Rs.50,000, Balance at bank on 31-3-2018 -Rs.5,000. 

b) b) Further details available are; 

Particulars 1-4-2017 31-3-2018 

(Rs.) (Rs.) 
Stock 18,000 20,440 
Creditors 16,000 11,000 
Debtors 44,000 60,000 
Furniture 2,000 2,000 

Machinery 30,000 30,000 
c)Provide interest on opening capital at 5%, provide Rs.3,000 for doubtful debts c) 

and 5% depreciation on all fixed assets. 

drteod 31-3-2018 s3prbsod d D, cr an3ntdso sdd 
e3 

a) 

Sov de.17,000, DT Dzr - do.15,600, waiosah do 400, zo3 
DabF do.4,000, goren aoka - do.30,000, srnadb doJD - de.30,000 

obesrieos woDd)- do.50,000, od bey 31-3-2018 de.5,000. 
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b) 

1-4-2017 31-3-2018 

(de.) (do.) 

18,000 20,440 

16,000 11,000 

adbrorieb 44,000 60,000 

bedorssdrorieb 2,000 2,000 

adbosrisd 30,000 30,000 

c) OSdb mdos woTsovs bes de.5 do3 wa sioOA, abesris bes 

do ateo 3nowbo. 

11. a) Calculate interest included in each instalment. 

Cash price - Rs.60,000, Down payment - Rs.18,000, three annual instalments of 

Rs.24,000, Rs.18,000 and Rs.12,000 respectively payable at the end of each 

year. 

Ascertain credit sales from the following. b) 
Rs. 

Opening debtors 80,500 

Cash received from debtors 6,23,500 

B/R received 24,000 

Sales returns 8,000 

Bad debts 6,800 

B/R dishonoured 3,000 

Discount allowed 2,000 
B/R discounted with bank 4,500 

P.TO. 
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a) 8 doxODHO, Rrod taa) dordboao330. a 

ritd se do.60,000 an de. 18,000 3 dr 0,docthr 
Add nFT 8ontb sSn do.24,000, do. 18,000 5s) da.12,000 

b) 

de. 

80,500 

6,23,500 

24,000 

8,000 

6,800 

3,000 

2,000 

4,500 
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